
6/22/23, 3:36 PM about:blank

about:blank 1/4

Product Additional Information

Product Code

10614IN-0,
4187IN-WD-0,
26351IN-P-NA,
75890IN-P-CP,
1527926,
12927IN-CP,
31459IN-0,
27482IN-4ND-CP,
25150IN-NA,
75823IN-CP,
20746IN-CP,
882IN-CP,
72328IN-4FP-CP,
73040IN-CL-CP,
16346IN-CP,
11568IN-7B-CP,
7275IN-CP,
27494IN-CP,
98445IN-CP,
9040IN-CP,
25065IN-CP,
5631IN-CP,
25073IN-CP,
5632IN-CP,

Country Of Origin

10614IN-0:India,
4187IN-WD-0:India,
26351IN-P-NA:India,
75890IN-P-CP:India,
1527926:India,
12927IN-CP:India,
31459IN-0:India,
27482IN-4ND-CP:India,
25150IN-NA:India,
75823IN-CP:India,
20746IN-CP:India,
882IN-CP:India,
72328IN-4FP-CP:India,
73040IN-CL-CP:China,
16346IN-CP:India,
11568IN-7B-CP:India,
7275IN-CP:China,
27494IN-CP:India,
98445IN-CP:India,
9040IN-CP:India,
25065IN-CP:India,
5631IN-CP:China,
25073IN-CP:India,
5632IN-CP:China,

Item Dimensions L*W*H(cm) 10614IN-0 (45.97, 37.60, 11.60);
4187IN-WD-0 (53.50, 36.10, 36.00);



6/22/23, 3:36 PM about:blank

about:blank 2/4

26351IN-P-NA (82.70, 46.58, 19.40);
75890IN-P-CP (22.10, 0.00, 15.60);
1527926 (13.50, 14.00, 14.00);
12927IN-CP (11.1, 2.7, 5.2);
31459IN-0 (48.5, 34.4, 25);
27482IN-4ND-CP (17.7, 16.2, 11.3);
25150IN-NA (15.41, 10.86, 4.45);
75823IN-CP (41, 6.5, 39);
20746IN-CP (6.5, 6.5, 10.4);
882IN-CP (15.5, 7.3, 13.6);
72328IN-4FP-CP (11.30, 5.80, 16.60);
73040IN-CL-CP (25.40, 25.40, 6.11);
16346IN-CP (47.5, 6.5, 9.8);
11568IN-7B-CP (7.80, 5.70, 5.70);
7275IN-CP (10, 10, 7.1);
27494IN-CP (16.18, 6.00, 7.38);
98445IN-CP (9.80, 8.90, 23.80);
9040IN-CP (5.8, 4, 5);
25065IN-CP (60.5, 7.8, 4.2);
5631IN-CP (16.4, 15.5, 5.3);
25073IN-CP (14.2, 6.8, 4.2);
5632IN-CP (19.7, 7.2, 4.5);

Manufactured By

10614IN-0, 4187IN-WD-0, 1527926, 12927IN-CP,
31459IN-0, 27482IN-4ND-CP, 25150IN-NA,
20746IN-CP, 882IN-CP, 72328IN-4FP-CP, 16346IN-
CP, 27494IN-CP, 98445IN-CP, 9040IN-CP,
Kohler India Corporation Private Limited, 26 A, RING
ROAD, LAJPAT NAGAR-IV, NEW DELHI-110024

Marketed By

26351IN-P-NA, 75890IN-P-CP, 75823IN-CP,
11568IN-7B-CP, 25065IN-CP, 25073IN-CP,
Kohler India Corporation Private Limited, 26 A, RING
ROAD, LAJPAT NAGAR-IV, NEW DELHI-110024

Imported By

73040IN-CL-CP, 7275IN-CP, 5631IN-CP, 5632IN-
CP,
Kohler India Corporation Private Limited, 26 A, RING
ROAD, LAJPAT NAGAR-IV, NEW DELHI-110024

Customer care details

Customer care cell Kohler India Corporation Private
Limited, 6TH FLOOR, CORPORATE OFFICE
TOWER, AMBIENCE ISLAND, NH-8,
GURUGRAM, HARYANA-122002. TOLL FREE
NO.: 1800-103-2244, EMAIL:
cust_service@kohler.com

Quantity 1U
Package contents 10614IN-0:

1 TOILET SEAT, 1 ACCESSORIES PACK, 1
INSTALLATION MANUAL & 1 WARRANTY
CARD. ,
4187IN-WD-0:
1 WALLHUNG BOWL; 1 INSTALLATION
INSTRUCTIONS; 1 WARRANTY CARD,
26351IN-P-NA:
1 IN-WALL TANK; 1 HARDWARE KIT;2 OUTLET



6/22/23, 3:36 PM about:blank

about:blank 3/4

PIPES;1 INSTALLATION GUIDE; 1 WARRANTY
CARD ,
75890IN-P-CP:
1 FACEPLATE & 2 SCREWS ,
1527926:
1 PLASTIC PIPE, 1 0-RING & 1 GASKET ,12927IN-
CP:
1 HEALTH FAUCET; 1 HOSE; 1 BRACKET; 1
WARRANTY CARD; 1 INSTALLATION
INSTRUCTION ,
31459IN-0:
1 LAVATORY;1 INSTALLATION TEMPLATE AND
1 WARRANTY CARD. ,
27482IN-4ND-CP:
1-WM LAV FAUCET, 1 INSTALLATION MANUAL;
1 WARRANTY CARD, 1 MOUNTING KIT; 1
ESCUTCHEON KIT ,
25150IN-NA:
1 VALVE; 1 INSTALLATION INSTRUCTION; 1
WARRANTY CARD ,
75823IN-CP:
1 BOTTLE TRAP, 1 WALL FLANGE, 1
INSTALLATION GUIDE & 1 WARRANTY CARD. ,
20746IN-CP:
1 GRID DRAIN SET, INSTALLATION
INSTRUCTION, WARRANTY ,
882IN-CP:
1 VALVE; 1 WARRANTY CARD; 1 INSTALLATION
GUIDE ,
72328IN-4FP-CP:
1 TRIM; 1 COVER ASSEMBLY; 1BONNET;
1HANDLE; 1INSTALLATION KIT; 1RING; 1
WARRANTY; 1 INSTALLATION INSTRUCTION
,73040IN-CL-CP:
1-RAIN HEAD; 1-WARRANTY; 1-INSTALLATION
MANUAL ,
16346IN-CP:
1 SHOWER ARM; 1 ESCUTCHEON; 1
WARRANTY CARD; 1 INSTALLATION GUIDE
,11568IN-7B-CP:
1 ANGLE VALVE, 1 ESCUTCHEON, 1
INSTALLATION INSTRUCTION & WARRANTY
CARD ,
7275IN-CP:
1 DRAIN SET, 1 INSTALLATION GUIDE & 1
WARRANTY CARD. ,
27494IN-CP:
1-BATH SPOUT W DIV, 1 INSTALLATION
INSTRUCTION; 1 WARRANTY CARD, 1
ESCUTCHEON ,
98445IN-CP:
1 HANDSHOWER; 1 HOSE; 1 INSTALLATION
INSTRUCTION; 1 WARRANTY CARD ,
9040IN-CP:



6/22/23, 3:36 PM about:blank

about:blank 4/4

1 BRACKET; 1 WARRANTY CARD; 1
INSTALLATION INSTRUCTION ,
25065IN-CP:
1 SINGLE TOWEL BAR, 1 SCREW KIT, 1
INSTALLATION MANUAL & 1 WARRANTY
CARD ,
5631IN-CP:
1 TOWEL RING, 1 INSTALLATION GUIDE & 1
WARRANTY CARD. ,
25073IN-CP:
1 DOUBLE ROBE HOOK ,1 SCREW KIT, 1
INSTALLATION INSTRUCTIONS & 1
WARRANTY CARD. ,
5632IN-CP:
1 PAPER HOLDER ROLLER, 1 INSTALLATION
INSTRUCTIONS & 1 WARRANTY CARD ,

Disclaimer
The product images shown are for illustration purposes
only and may not be an exact representation of the
product


